AR SRTA=R S Vi

@ y=-x*+5x+2

@ y=ax>+bx+c(a#0)



@0



A
ol
T

T
el
M-
=3

@ (0,-2) ® (3,0)

@ (0,0)

® (-2,0)

@ (0,3)



ozttt y = a(x - p)? + ¢ & AHZ7 3 TS W, a,p,q 9
B25E?
yl\
[ 9V
® a>0,p>0,g>0 @ a<0,p<0,g<0
® a>0,p<0,g<0 @ a<0,p<0,g>0

® a<0,p>0,g>0



@ y=-x>-2x+T7

—x242x-T7

@y

@ y=-x>-2x+5

-x>4+2x-5

®y

® y=x*2-2x+5



e % ol

O y=2x*-2x+3 (m:§)

@ y=-x :
y x°—2x M=1)

®y=2x+12-5 (m=-5)

.
y 2x2—3 (m = -3)
® y=-3(x-27

3x—2) (M =2)

N
]
%
1o
B
pou
)
S
o
rlr
B



ol

y = -3(x—2)? o[t}

ol
I
or

TR

st

oy o] e F

S}
=

® x>2 < HA x 9] gro] F7}



©9

AL A (0, T)= A2 W, Fal G

@ 2 ® 3 @ 4 ® 5

D1



9.

O|Z}gtr y = 2x% — 8mx+ 10m? — 11m +2 9] 18| ZL 2]
y=-3x+5 2ol A= dl, m O = F5kofh

o
|

18

Fom
m

F

a
a

0



10. y—= S(x4+2)2 -4 9 THmeA x o o] Zra f, y 9] Zo]
: 3
et co] Zre] Wele Falola),

D L
=%



’y}l

Zojrt.

(x-2)2+1 9 18

@y

Laint

o y O] T 5

G

=
[

@ x <2009 x 9 go]
® yl k9] 89

y < 10|t}

L)
1



= 1 —
Oy = 5a% fax+ b o HAHE] HB7H(-2,3) L W, a-b

o ghe atelet.

D L
=%



13. olAe4y =22 4 2ax— b= x=3 2 U, H:7t2 2 2}, ol

+b 5 Tateiet

o
a

SE



sholat,

q_



y
AW, p+ g o k& Fatolat



16.

o]
o] Iz~
)
@) a<—g
@ aﬁ—z

=

@ a<-—=

AF5H y = ax? + bx+c 9] T o] A Ao 2w} (2, 3) A o,
FA 2 A2 e AU o

a ) e WAL (a0

@ a< =



17. A A (-1, =5), (0, 5), (2, 13) = Ah= o|xg2] Lo
LAM] AR} (p, q) A W, p—q & A7

D1 @ 5 ® -5 @ -1 ® -11



A% 22m F= A 24 30m & 92 94 &9 391 2§
=015 hm 2 S h = -5 + 301 + 22 1 A7 FHATE o] T2
™

2 2 Fofl HaL Folof =Esh=71?



19.



20. oAty = 4% —6mx—9m+6 9] HEZS f(m) o2t S o, f(m)
BEFRCERRY



